
��&�
К4DедD4 V=6е=еDVW пDо7D4<=о7о 745е7пеGе==O 6 е=еD7ет8FV

О� �=6е=еDVO пDо7D4<=о7о 745е7пеGе==O V=телекту4ль=8E кV5еD-DV78G=8E E8Eте< 6 
е=еD7ет8FV

�еDH89 (54к4л46DEьк89) DV6е=ь
2024-2025���'�ЛЬ���  �К
К�ЛЬК�!&Ь О��&���%: 103



1,9
3,9

22,3

33,0

27,2

11,7

1 - =V74Iо =е о5D46 
(-л4)

2 3 4 5 - о5D46 (-л4)  58 
о5о6'O7ко6о

�46ко 6Vдпо6VEт8

/К�� ' ��! �’/��Л�!/ �О�Л���!&Ь )�  �� О�� �&� О!��&�. 
� О� ��', '� О� �Л� � �� ��О�' &', �� /КО. ���'��&�!Ь �� ��? 

(де 5 – о5D46(-л4) 58 о5о6’O7ко6о, 1 – =V74Iо =е о5D46(-л4) 5, 4 0 – 646ко 6Vдпо6VEт8)



62,1

60,2

59,2

1,0

1,0

1,0

1,9

0,0

0,0

7,8

6,8

3,9

17,5

21,4

23,3

9,7

10,7

12,6

�45е7пеGе=VEть л45оD4тоDV9 EуG4E=8<8 
ко<п'NтеD4<8 45о о5л4д=4==O<

�45е7пеGе=VEть л45оD4тоDV9 =ео5EVд=8< 
EпеFV4ль=8< пDо7D4<=8< 745е7пеGе==O<

�4O6=VEть 6 <етод8G=8E к45V=ет4E к4DедD8 
=46G4ль=оW лVтеD4туD8

О&���&Ь, �'�Ь Л�!К�, !&�� ���'�ЛЬ�О-Л��О �&О �О� ���� 
��(О�О $�К'ЛЬ&�&' �� ��!&'����� �ОК����К���:

�у6е до5Dе �о5Dе �оEеDед=ьо �о74=о �у6е по74=о �е <о6у оFV=8т8



53,4

62,1

52,4

3,9

3,9

3,9

5,8

5,8

9,7

21,4

17,5

16,5

6,8

6,8

7,8

�474ль=89 теE=VG=89 Eт4= =46G4ль=8E 
4уд8тоDV9

Оп4ле==O =46G4ль=8E 4уд8тоDV9

&еE=VG=89 Eт4= пD8<VIе=ь 7474ль=о7о 
коD8Eту64==O у коDпуE4E (ту4лет8, Eол8)

�у6е до5Dе �о5Dе �оEеDед=ьо �о74=о �у6е по74=о �е <о6у оFV=8т8

�'�Ь Л�!К�, О&���&Ь ��!&'��� КО��О���&� ����ЛЬ�О�О &�%��'�О�О !&��' 
� ���)��Ь КО �'!��, )О ����О!/&Ь!/ �О $�К'ЛЬ&�&', �� /КО�' �� ���'��&�!Ь 

�� ��!&'����� �ОК����К���:



8,7

6,8

13,6

9,7

91,3

93,2

86,4

90,3

�VдEут=VEть V=DоD<4FVW пDо Dе9т8=7о6у 
E8Eте<у оFV=N64==O 45о WW 7<V=4

(тD4D=V 54л8/7=86е==O 54лV6 74 
6VдEут=VEть =4 74=OттV

�VдEут=VEть 7DуG=о7о к4=4лу длO 
EпVлку64==O 7 68кл4д4Gе<

�епDо6еде==O 74=Oть 5е7 под4льHо7о 
пеDе=еEе==O G8 =4д4==O <о6л86оEтV 

6VдпD4FN64==O

'� !&�К�Л�!Ь �� �� О�О�� ���'���/ ' �О&О'�О�' !���!& � � 
&�К��� �����К���:

�V &4к



�46G4NEO 7 
по6=оN 
6Vдд4GеN 

E8л
55%

�46G4NEO 
Eт4D4==о 

л8Hе G4E 6Vд 
G4Eу
42%

�46G4NEO 
7о6EV< =е 
Eт4D4==о

3%

/К ' &�ЛО�' �� О&��.�&� !�О. 
!&� ����!&Ь ' ���'����?

�оEтV9=о 
6Vд6Vду646 уEV 

74=OттO
27%

�DопуEт86 
=е7=4G=у 
G4Eт8=у 
74=Oть

46%

�DопуEт86 
7=4G=у 
G4Eт8=у 
74=Oть

24%

�D4кт8G=о =е 
6Vд6Vду646 
74=OттO

3%

�К���&Ь, �'�Ь Л�!К�, /К �� 
������'��Л� ���/&&/ �� О�О�� 

���'ЛО�О !���!& '?



3,9

24,3

31,1

40,8

&4к (68дHе т4к (68дHе =V �V

'� �О& ��'�&� �� �!�%ОЛО��'�О� �О�О�О�� )О�О ���& ��К� 
&� ��� �����/ ���&�ЛЬ�О�О ��О О�'/



��!К�ЛЬК� ����О�����, �� ��(' �'�К', � О� ��� ����О&О�К� 
$�%��&�� �� ��(О. О!��&�ЬО. � О� ��О. !''�!��� ���О��� 

 ��К' � �&�?

12,6

48,5

16,5
20,4

1,9

�о6=VEтN 6Vдпо6Vд4T  4дHе 6Vдпо6Vд4T �46ко 6Vдпо6VEт8  4дHе =е 6Vдпо6Vд4T �7474лV =е 6Vдпо6Vд4T



21,4

53,4

22,3

1,0 1,9

/ отD8<уN OкVE=у оE6Vту / отD8<уN H68дHе 
OкVE=у оE6Vту, =V6 

=еOкVE=у

/кVEть оE6Vт8, Oку O 
отD8<уN, T 

поEеDед=ьоN

/ отD8<уN H68дHе 
=еOкVE=у оE6Vту, =V6 

OкVE=у

/ отD8<уN =еOкVE=у 
оE6Vту

О&���&Ь, �'�Ь Л�!К�, /К�!&Ь О!��&� �� ��(О. 
О!��&�ЬО. � О� ��О.:



44,7

55,3

&4к �V

'� � ���ОЛ�К�, )О ����'.&Ь /К�!&Ь ��(О� 
����О&О�К�?



26,2

19,4

19,4

16,5

13,6

8,7

6,8

5,8

4,9

3,9

2,9

1,9

1,9

1,9

4,9

2,9

�<оFV9=4 6то<4 т4 =е74до6Vль=89 пE8Eоло7VG=89 Eт4=

ВVдEут=VEть 45о 74Eт4DVлVEть <етод8G=8E <4теDV4лV6 V7 =46G4ль=8E д8EF8плV=

�4д<VD=4 Eкл4до64 E4<оEтV9=оW Dо5от8

З<VEт =46G4==O =е 6Vдпо6Vд4T EуG4E=8< 68<о74< D8=ку пD4FV

О5<е6е=89 доEтуп до І=теD=ету GеDе7 пеDе5оW 7 поEт4G4==O< електDое=еD7VW

�едоEт4т=O допо<о74 7 5оку 68кл4д4GV6 74 окDе<8<8 д8EF8плV=4<8

�едоEт4т=VEть пD4кт8G=оW Eкл4до6оW пVд7ото6к8

�еEпD46едл86VEть оFV=N64==O 68кл4д4G4<8 DV7=8E 7до5у64GV6 68IоW оE6Vт8

З4Eт4DVл4 <4теDV4ль=о-теE=VG=4 5474 л45оD4тоDV9, =46G4ль=8E 4уд8тоDV9

�едоEт4т=VEть V=DоD<4FVW пDо оE6Vт=V9 пDоFеE

ВVдEут=VEть доEтупу до =ео5EVд=оW лVтеD4туD8

�еEпD46едл86е 68DVHе==O ко=DлVкт=8E E8ту4FV9 4д<V=VEтD4FVTN D4культету

ВVдEут=VEть EпD8O==O 7 5оку куD4тоDV6

ВVдEут=VEть доEтупу до л45оD4тоDV9

В46ко 6Vдпо6VEт8

І=Hе

'� �О�Л� � �� �����&� О!�О��� ���ОЛ�К�, )О ����'.&Ь /К�!&Ь ��(О� 
����О&О�К�? 



�D4FNN поEтV9=о
35%

�VдDо5лON G4E 6Vд G4Eу
28%

�е пD4FNN 67474лV
37%

'� � �&.�&� �� �� ��?



&4к
82%

�V
18%

'� ���О�О ��� � О ����  КО���&��&�О!&�� (����Ь, 
����'ОК � ����Ь), /К� �� ����'��� ��(О. О!��&�ЬО. 

� О� ��О.?



59,5

6,0

31,0

3,6
0,0

 4дHе отD8<уN �46ко 6Vдпо6VEт8 ОтD8<уN  4дHе =е отD8<уN �е отD8<уN

'� О& ��'�&� ��  ��ЛЬ�� �����/, ����'К� &� 
�����/ �� ��(О. О!��&�ЬО. � О� ��О.?



&4к
75,7%

�V
7,8%

�46ко 6Vдпо6VEт8
16,5%

'� ����О�����, �� ��(' �'�К', ���!& О!��&�ЬО� 
� О� ���, �� /КО. ���'��&�!Ь, �� �����?



20,4%

46,6%

12,6%
15,5%

4,9

�о6=оN <VDоN �оEт4т=ьоN <VDоN В46ко 6Vдпо6VEт8 �едоEт4т=ьоN <VDоN В7474лV =едоEт4т=ьоN 
<VDоN



69,9

74,8

44,7

77,7

75,7

67,0

77,7

71,8

68,0

41,7

78,6

70,9

15,5

29,1

8,7

8,7

10,7

6,8

10,7

8,7

33,0

7,8

14,6

14,6

26,2

13,6

15,5

22,3

15,5

17,5

23,3

25,2

13,6

13,6

Ко<у=Vк4т86=V =468Gк8

В<V==O пу5лVG=о пDедEт468т8 Dе7ульт4т8 E6оTW Dо5от8

УпD46лV=EькV =468Gк8

В<V==O пD4FN64т8 6 ко<4=дV

В<V==O дотD8<у64т8EO тDудо6оW д8EF8плV=8

Ко<плекE=е (E8Eте<=е) 68DVHе==O Dо5оG8E пDо5ле<

Ад4пт86=VEть т4 7=уGкVEть

І=VFV4т86=VEть, т6оDG89 пVдEVд до EпD468

КD8т8G=е <8Eле==O

�<оFV9=89 V=телект 

Зд4т=VEть до 5474то74д4G=оEтV

В<V==O дVOт8 6 у<о64E EтDеEу

'� �������''�&Ь!/ ��� '�! ����О&О�К� �� ��(О. О!��&�ЬО. � О� ��О. 
���'&&/ ��О�'��'��� ��)О� О!��&� !О&��ЛЬ��% ����'ОК (SOFT SKILLS)?

&4к �V �46ко 6Vдпо6VEт8



&4к
49%

�V
14%

�46ко 6Vдпо6VEт8
37%

'� �'ЛО ��� �����О �О�Л���!&Ь О�� �&� ���'�ЛЬ�� 
��!&��Л��� О�!/�О� �� ���(� 25% ��� ����ЛЬ�О�О 

О�!/�' О!��&�ЬО� � О� ���?



63,1

36,9

�Vдо<о �е 6Vдо<о

'� ���О�О ��� � О �О�Л���!&Ь �� �%'����/ ОК ���%  ��'ЛЬ&�&�� 
О& �����% ' ����% ��$О ��ЛЬ�О� О!��&� (�� О!�О�� !� &�$�К�&�� � О 

��К��'���/ О�Л���-К' !�� ������ ��, & �������, & '�О�О�О �О!���' &О)О)?



�о6=VEтN 6Vдпо6Vд4T
13%

 4дHе 6Vдпо6Vд4T
49%

 4дHе =е 6Vдпо6Vд4T
21%

�7474лV =е 
6Vдпо6Vд4T

17%

'� ����О�����, �� ��(' �'�К', � �К&�'�� 
����О&О�К�  ��ЛЬ��� ���О���  ��К' � �&�?



59,2

35,9

2,9 1,9

�о6=VEтN о7=49о<ле=89/=4 (68дHе о7=49о<ле=89/=4 (68дHе =е о7=49о<ле=89/=4 �7474лV =е о7=49о<ле=89/=4

О&���&Ь, �'�Ь Л�!К�, ��!К�ЛЬК� �� О����О�Л��� 
� �ОЛ�&�КО. �К�����'�О� �О� О'�!�О!&� � К�� 

��. ��О / !�КО !ЬКО�О?



22,3

15,5

24,3

21,4

13,6

36,9

52,4

39,8

43,7

39,8

40,8

30,1

19,4

28,2

19,4

21,4

29,1

16,5

3,9

11,7

10,7

11,7

13,6

10,7

1,9

4,9

1,9

5,8

2,9

5,8

�8<о78 до п8Eь<о68E Dо5Vт

�т8к4 т4/ 45о 4к4де<VG=4 до5DоGеE=VEть

�л47V4т, Eп8Eу64==O т4 V=HV поDуHе==O

!4=кFVW 74 пл47V4т, Eп8Eу64==O т4 V=HV 
поDуHе==O

�D468л4 F8ту64==O 74по78Gе=8E текEтV6 V 
пD468л4 поE8л4==O =4 68коD8Eт4=у лVтеD4туDу

�D468л4 68коD8Eт4==O V=EтDу<е=тV6 HтуG=о7о 
V=телекту длO 68ко=4==O п8Eь<о68E Dо5Vт

/К '�!&О �� О�О�� !���!& ' �� О��О�О .��Л� � 
��КЛ���'��� &�К� ��&���/?

�у6е G4Eто '4Eто  Vдко �у6е DVдко �46ко 6Vдпо6VEт8



62,1

37,9

0,0 0,0

�4N доEтуп до уEVE E8л45уEV6 �4N доEтуп до E8л45уEV6 
5VльHоEтV д8EF8плV=

�4N доEтуп до E8л45уEV6 
тVльк8 окDе<8E д8EF8плV=

�е <4N доEтупу до E8л45уEV6 
6од=оW д8EF8плV=8

'� ���&� �� �О!&'� �О !�Л��'!�� (&���&�'��% 
�Л���� К' !��)?



1,0

7,8

27,2

49,5

53,4

72,8

О7=49о<лNNEь 7 п4пеDо6оN 6еDEVTN =4 к4DедDV

�е FVк46лNEь E8л45уE4<8 д8EF8плV=

З464=т46уN о=л49= 7 АІ! "�лектDо==89 к4<пуE"

З464=т46уN о=л49= 7 E49ту 
к4DедD8/D4культету/V=Eт8туту

В8кл4д4GV =4дE8л4Nть =4 e-mail 45о GеDе7 
<еEе=д6еD8

З464=т46уN о=л49= 7 <4теDV4лV6 Google classroom 

45о Moodle-пл4тDоD<8 д8Eт4=FV9=о7о =46G4==O …

� /К�% ��� �Л ��, �����'��, О& ��'�&� !�Л��'!�? 
(�О�Л��О ��� �&� ��К�ЛЬК� �� ���&��)



2,9 1,9

16,5

45,6

33,0

1 - 67474лV =е 
7Dо7у<VлV

2 3 4 5 - по6=VEтN 
7Dо7у<VлV

О&���&Ь, �'�Ь Л�!К�, ��!К�ЛЬК� � О�'��Л��� �����'�� � 
К �&� �� О&��.����/ ��!Ь�О��%  О��& �� ���'�ЛЬ��% 

��!&��Л��:



�V
84%

&4к
16%

'� !&�К�Л�!Ь �� � �����К��� ��О�’�К&���О�О 
О&��.����/  ��'ЛЬ&�&�� ���'���/ � �ОК' 

��КЛ���'��?



11,7

3,9

9,7

4,9

11,7

22,3

19,4

24,3

15,5

28,2

46,6

41,7

43,7

56,3

24,3

23,3

26,2

25,2

25,2

24,3

�л47V4т у =46G4ль=8E Dо5от4E (куDEо68E, д8пло<=8E, 
<47VEтеDEьк8E тоIо)

!п8Eу64==O 7V Hп4D74лок, E<4DтDо=V6 =4 
VEп8т4E/74лVк4E

�D8д54==O 7ото68E Dо5Vт (куDEо6V, DеDеD4т8, 
Dо7D4Eу=ко6V)

�VдDо5к4, пVдт4Eу64==O, D4льE8DVк4FVO д4=8E у 
=46G4ль=8E Dо5от4E (=4пD8кл4д, пVд<V=4 д4=8E, 

пVдDо5к4 Dе7ульт4тV6 доEлVд6е=ь тоIо)

�8коD8Eт4==O V=EтDу<е=тV6 HтуG=о7о V=телекту длO 
68ко=4==O п8Eь<о68E Dо5Vт

��!К�ЛЬК� �О(� ��� !� �� ��(�% О��ОК' !��К�� ��!&'��� 
� О/�� �О�����К�:

�у6е поH8Dе=о (68дHе поH8Dе=о (68дHе =е поH8Dе=о �7474лV =е поH8Dе=о �46ко 6Vдпо6VEт8



1,9

2,9

4,9

1,0

3,9

8,7

13,6

9,7

12,6

6,8

3,9

31,1

37,9

38,8

38,8

36,9

40,8

34,0

64,1

51,5

46,6

49,5

47,6

47,6

61,2

�8д4==O 68ко=4=оW V=H8< 46тоDо< Dо5от8 74 E6оN 5е7 
6=еEе==O 6 =еW 6од=8E 7<V=

�оEлV6=е копVN64==O DD47<е=тV6 текEту  5е7 =4ле6=о7о 
оDоD<ле==O F8ту64==O

�=еEе==O =е7=4G=8E пD46ок у EкопV9о64=89 <4теDV4л  т4 5е7 
=4ле6=о7о оDоD<ле==O F8ту64==O

�DедEт46ле==O Eу<VHV 6л4E=8E V 74по78Gе=8E 4D7у<е=тV6 5е7 
=4ле6=о7о F8ту64==O

�4D4DD474 – пеDек47 E6оW<8 Eло64<8 Gу68E ду<ок, Vде9 45о 
текEту

Ко<пVлOFVO – Eт6оDе==O 7=4G=о7о <4E86у текEту 5е7 
по7л85ле=о7о 686Gе==O пDо5ле<8 HлOEо< копVN64==O &

!4<опл47V4т

��!К�ЛЬК� �О(� ��� !� �� ��(�% О��ОК' !��К�� ��!&'��� 
� О/�� �О�����К� ��� '�! ��КО����/  О��&:

�у6е поH8Dе=о (68дHе поH8Dе=о (68дHе =е поH8Dе=о �7474лV =е поH8Dе=о



9,7
15,5

10,7
5,8

58,3

�о6=VEтN дVT68<  4дHе дVT68<  4дHе =е 
дVT68<

�7474лV =е 
дVT68<

�46ко 
6Vдпо6VEт8/�е 
под4646 Eк4D78

О&���&Ь ��!К�ЛЬК�, �� ��(' �'�К', ������ � 
��%����� �О��'� !К� �� )О�О �����О�ОЛ��О!&� 

О!��&��� � О&�!О� � '���� !�&�&�:



56,3

40,8

24,3

18,4

7,8

1,9

1,0

 о77лOд =4 �Gе=V9  4дV 
D4культету/у=V6еDE8тету

О7олоHе==O до74=8

�о7546ле==O =4уко68E Eтупе=V6/6Gе=8E 764=ь

�у5лVG=е EоDо<ле==O, пDоDVл4кт8G=4 5еEVд4

�6Vль=е==O 7 у=V6еDE8тету

�46ко 6Vдпо6VEт8

�=Hе

/К� !��К&�� )О�О ��'КО�О-�����О��'��% � �&����К�� '  ��� ��/�Л���/ &� 
�О������/ �Л����&' ' �% �К�����'��% &�К!&�% (��!� &�&��, �О�О� �$��, 

��� ''��К� &О)О) �� ������&� !� ����Л�����?



93,2

75,7

4,9

20,4

1,9

3,9

�етод8 V=DоD<4FV9=о7о поHуку

!поEо58 оDоD<ле==O поE8л4=ь т4 
F8ту64=ь 6 оE6Vт=VE V =4уко68E Dо5от4E

О&���&Ь, �'�Ь Л�!К�,  ����Ь �ОЛО����/ ���� &�К��� 
�����/��/����'К���, �О�’/������ � �О& �����/� 

� ��&���� �К�����'�О� �О� О'�!�О!&�:

�=4N т4 6<VN 74EтоEо6у64т8 =4 пD4кт8FV �=4N, 4ле =е 6<VN 74EтоEо6у64т8 =4 пD4кт8FV �е 7=4N



6,8

17,5

2,9

93,2

82,5

97,1

ко=DлVкт 7 V=H8<8 7до5у64G4<8 оE6Vт8 ко=DлVкт 7 68кл4д4G4<8 ко=DлVкт 7 пDедEт46=8к4<8 
4д<V=VEтD4FVW (D4культету, 

у=V6еDE8тету)

'� & ��Л/Л�!/ � ���� �� !О��ЛЬ�О &�К� КО�$Л�К&�� 
!�&'�&�� ��� '�! ���'���/ � '���� !�&�&�:

&4к �V



78,6

15,5

8,7

6,8

3,9

1,9

1,0

�е <46/=е <4л4 ко=DлVкт=8E E8ту4FV9

В8DVHу646/л4 WW E4<оEтV9=о

З6еDт46EO/л4EO 74 допо<о7оN до куD4тоD4 7Dуп8

З6еDт46EO/л4EO 74 допо<о7оN до Eт4DоEт8 7Dуп8 G8 V=H8E 
Eтуде=тV6

З6еDт46EO/л4EO 74 допо<о7оN до кеDV6=8Fт64 
D4культету/V=Eт8туту

З6еDт46EO/л4EO 74 допо<о7оN до 4д<V=VEтD4FVW у=V6еDE8тету

З6еDт46EO/л4EO 74 допо<о7оN до ко<е=д4=т4/746Vду64G4 
7уDто68тко<

�О КО�О �� ��� &�Л�!/ )О�О  О��’/����/ КО�$Л�К&�О� 
!�&'�&��?
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�����&Ь, �'�Ь Л�!К�, '� � ���'�ЛЬ�� 
��!&��Л���, �� /К��� �� � �� ����&������� 

!��О!&���О.  О�О&О.?



48,5
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8,7 8,7
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�оT пD46о =4 
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�оT пD46о =4 
4к4де<VG=у E6о5оду 
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�46ко 6Vдпо6VEт8 �оT пD46о =4 
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дотD8<уTтьEO

�оT пD46о =4 
4к4де<VG=у E6о5оду 

67474лV =е дотD8<уTтьEO

/К �� �� О&���Л� �О& �����/ ��(О�О � ��� �� 
�К�����'�' !�О�О�' ��� '�! ���'���/?



�7474лV =е пDо6од8ть
2%

'4E 6Vд G4Eу
56%

�оEтV9=о
42%

/к G4Eто �4H4 к4DедD4/D4культет пDо6од8ть 
оп8ту64==O EеDед 7до5у64GV6 7 <етоN оFV=к8 OкоEтV

оE6Vт8?
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96%

&4к
4%

'� �О�О��ЛО!Ь ��� !�Л�''��&� /К�!Ь КО(&� �� КО �!&'����/ 
��$ �!& 'К&' О. '���� !�&�&' (!�О &���� ������'�К�,  О�О'� 

К����&�, ��Л� ���Л�О&�К� &О)О)?
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99%

&4к
1 %

�К���&Ь, �'�Ь Л�!К�, '� ����Л� �� КО�'-���'�Ь � ��КЛ���'�� ����' 
�����О О�' �� !КЛ�����//�� �!КЛ�����/ �!��&'/��Л�К' 
(�����)���/ О&��К� �� �!��&�) ��� '�! О!&���ЬО� !�!��:



81,6

60,2

49,5

44,7

35,0

23,3

6,8

1,0

� оDVFV9=8E Telegram-к4=4лV6 К�� V<. �7оDO 
!VкоDEько7о

�Vд од=о7Dуп=8кV6

�Vд куD4тоD4 7Dуп8

�Vд 68кл4д4GV6

� =еоDVFV9=8E Telegram-к4=4лV6

!тоDV=к8 D4культету/V=Eт8туту/к4DедD8 6 
EоFV4ль=8E <еDе64E (Facebook, Instagram)

�Vд пD4FV6=8кV6 дек4=4ту

�=Hе

� /К�% ��� �Л �� ���'�!&�(� О& ��'�&� ��$О ��&�. � О 
�О���� '���� !�&�&' &� ��(О�О $�К'ЛЬ&�&'? (�О�Л��О О� �&� 

��К�ЛЬК� �� ���&��)
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100%

&4к �V

'� !&�К�Л�!Ь �� � �����К���, КОЛ� ��(� ����О!� ���/ ''�!&Ь ' 
!&'���&!ЬКО�' !��О� /�'����� !&���Л� � �'��О. '&�!К�� � 

��!К �����&�� � �ОК' ��КЛ���'��?
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�V
99,0%

'� !&�К�Л�!Ь �� � �����К��� �� �(КО�����/  О�О&� 
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33,0

43,7

27,2
35,9

40,8 37,9 36,9
17,5 18,4

12,6

22,3

6,8 7,8
5,8

13,6

ОтD8<4=V 7=4==O =4 74=OттOE 7 
4=7лV9EькоW <о68 =4д4Nть 7<о7у <е=V 

по7л85лN64т8 D4Eо6V 7=4==O

�VдDуG=8к8 т4 V=HV =46G4ль=V 
<4теDV4л8, Oк8<8 В8 коD8EтуTтеEь 

длO 686Gе==O 
пDоDеEV9=ооDVT=то64=оW V=о7е<=оW 
<о68, доEт4т=ьо оEоплNNть D4Eо6у 
те<4т8ку т4 <VEтOть DV7=о<4=Vт=89 

4=7ло<о6=89 <4теDV4л

З4=OттO 7 686Gе==O 4=7лV9EькоW <о68 
FVк46V т4 <VEтOть DV7=о<4=Vт=V 6пD468, 
Iо EпD8ONть 74E6оT==N <4теDV4лу

�V9 DV6е=ь 7=4==O 4=7лV9EькоW <о68 
покD4I86EO 746дOк8 74=OттO< 7 
V=о7е<=оW <о68 6 у=V6еDE8тетV

��!К�ЛЬК� �� ��О��� � ��!&'����� &�� �����/��, �О�’/������ � 
���'���/� ���� ��О����О� �О�� � '���� !�&�&�?

�о6=VEтN 77оде= (68дHе 77оде= (68дHе =е 77оде= �7474лV =е 77оде=



49,5

26,2

21,4

15,5

14,6

12,6

6,8

3,9

1,9

1,0

�е <4N тDуд=оIV6 у EпVлку64==V V=о7е<=оN <о6оN 
длO D4Eо68E потDе5

�едоEт4т=V9 HкVль=89 DV6е=ь пVд7ото6к8

�8Eт4=FV9=89 Dе68< =46G4==O 6пDодо66 тD864ло7о 
G4Eу

�едоEт4т=O еDект86=VEть <етод8к8 68кл4д4==O 
V=о7е<=оW <о68 длO D4Eо68E потDе5

�едоEт4т=O кVлькVEть 7од8=, 6Vд6еде=8E длO 
686Gе==O пDоDеEV9=ооDVT=то64=оW V=о7е<=оW <о68

�еDе7улOD=е 6Vд6Vду64==O 74=Oть

В46ко 6Vдпо6VEт8

 о7G4Dу64==O у <495ут=V9 пDоDеEVW т4 =е5464==O 
6Vдпо6Vд=о 686G4т8 <о6у 74 D4Eо<

�епотDV5=VEть <о68 6 <495ут=V9 дVOль=оEтV

І=Hе

/К)О ' ��! ����К�.&Ь & '��О)� � !��ЛК'����/� ��О����О. �О�О. �Л/ 
$�%О��% �О& ��, &О )О, �� ��(' �'�К', � �� (' '� �', � �% � �'��О.? 

(О�� �&Ь '!� �О& ���� �� ���&�)
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49,5

17,5
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